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a1 - 1 (3R
faega e gawciiaew ¥ IR Reaed

9eqeT - 1

SH el H 2-2 3Pl & 25 W §l

(F - 100 37)
(50 31F)

e 3ca} & A el (V) &1 e aemsv)

1. afe Fdr S &1 E stauw § 3R
V cfiaa diecs, a9 Haga gfear &
CARIC

(@) V =

(b) V >

(c) V<

(d) V = E/r, S8l r = Seq & 3HidRe

gfeRTe

2. T @ g F Fao 3 gfeedr g
gfaQer fr AT A [T ggadean
grafr:

(@) 5%
(b) 10%
(c) 15%
(d) 20%

3. 5 A, 6 301A, 7 30#H, 8 A, 9 30,
10 3A & 6 9y FARR FA H
SS aT g HAed oY 1 fAed
AT g9
(@) 10 3T & 38+
(b) 8 3iteT & fE+
(c) 10 3H & T
(d) 5 317 & &

4. T Y iR AFT & ST T &
(a) 746 are
(b) 750 are
(c) 756 aE
(d) 766 are

5. farafaf@a deit & e Afaa 3iavuad W

T STl T FTT Isdr &
(a) ARTAT sedr

(b) Ara-FsfAge St
(c) FIeI-Toieh el
(d) 3RITFT & FIS T8l

. TSl A gHR foie H ST ST &

(a) Falld dr
(b) fsshIT AR
(c) -HUThd ar

(d) (b) 3@ (C)

. 1500 IR.9.TA. (RPM) W gHA drel 8

dd Al & fav gk goemrs  3mgfa
A T gl TIfeT:

a) 50 gcor

(b) 100 g&at

c) 150 gat

(d) 200 g&at

. T 9RO H 9RuRe arr fr FeT e

gl &

(a) %1 99T & 3= fasa &r AR

(b) a8 feem, o 3T s sga &

(c) ag feam, H 3R UolcAs QYU
g gl

(d) 3RITFd & IS T@r |
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PART -1

(Compulsory)

BASIC PRINCIPLES OF ELECTRITY & ELECTRONICS

Total — 100 Marks

Q. l. This section contains 25 questions of 2 marks each. (50 Marks)
Marks (v ) against the most appropriate answer
1. If ‘E’ is emf and V is the terminal | 5. Addition of water at regular interval is
voltage of battery then during required for:
discharging process:
(a) VRLA battery
@V=E
b)V>E (b) Nickle — Cadmium battery
(c)V<E (c) Carbon — Zinc cell
(dV = EIr where r = internal
resistance of battery (d) None of the above
2. A carbon resistance has only 3 | 6. Fuseisalways connected in:
colour bands. Tolerance in the value (a) Live wire
of resistance is: (b) Neutral wire
(@) 5% (c) Earth wire
(b) 10% (d) Either (b) or (c)
(c) 15% I I
. Power su frequency of 8 pole
(d) 20% PRl Trequency P
Motor operating at 1500 rpm should
3. 6 resistances of value 5Q, 6Q, 7Q, be:
8Q, 9Q, 10Q are connected in (a) 50 Hz
parallel. The equivalent resistance is: (b) 100 Hz
(a) Greater than 10Q (c) 150 Hz
(b) Greater than 8Q (d) 200 Hz
() Equal to 10Q . Direction of conventional current in a
(d) Less than 5Q circuit is:
4. One Horse Power is equal to: (@) From lower potential to higher

(a) 746 W
(b) 750 W
(c) 756 W
(d) 766 W

potential
(b) Direction in which electrons flow

(c) Direction in which positive charge
flows

(d) None of the above

Page 3 of 32



9. It Sou & Wt AT T H
AuRa & I &

a) 9ray 3 drecs
b) gTaR 3R €mT
c) dlecor 3R anr
) el

(
(
(
(d

10. 3313 Hammgl FATRIT & e ggfa
gl &
(a) 3T drecat dfsy

(b) 3= g1 HfcaTer
(c) 3= 3m3eqe Ffdsmer

(d) 3T TR afeyr

11. R0 9RO H &R
(a) oSt & M Tl &l
(b) Aot & NS el &l
(c) Aot & TTY Teldl g
(d) dreesT & 180° faudia @erdy &l

12.ev v gy &, R 3m@er #
i R, W AT diecsr gIem:

R R
—— ¢
10v

(@) 5 drec
(b) 10 aree
(c) YT dlee
(d) -5 dree

13. 3M9% Fg & AP ded (IR thaex)
FUT-PS [T BT AMMRT:

fr-ersy dHihsaey & v Fedr §
IR ATy FAFsFRr & v
edr gl

15. Ao g Ifaeey &1 39391 et #
R ST &

(a) ¥T@F dra) Teas H
(b) TE wH & TH (SMPS) &
(c) 3RS el A
(d) foreir & =Tet

16.77 # fe@mar mr 47 &

D

(a) 3THTEY

(b) dfeT HIeX
(c) 9raX HIeX
(d) 3mqfar SR
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9. Rating of bulb is specified in term of:

(a) Power and voltage
(b) Power and current
(c) Voltage and current

(d) Power only

10. Common collector configuration has:
(a) High voltage gain
(b) High input impedance
(c) High output impedance
(d) High power gain
11.Current in a inductive circuit:
(a) Leads voltage
(b) Lags voltage
(c) In phase with voltage

(d) 180° out of phase with voltage

12. Voltage across resistance R in the

given circuit in steady state is:

R R,

(a) 5 Volt

(b) 10 Volt
(c) 0 Volt

(d) -5 Volt

13.Power factor at your station should
be close to:

(@0

(b) 0.5

(c) Close to 1
(d) Infinity

14.Resistance of semiconductor will:

(a) Increases with increase in

temperature

(b) Decreases with increase in
temperature

(c) Remains constant with
temperature

(d) Increases for p type

semiconductor & decreases for n
type semiconductor

15. A series pass transistor is used in:
(a) Linear power supply
(b) SMPS
(c) Both of the above
(d) None of the above

16.Device shown in figure is:

(a) Ammeter
(b) Voltmeter
(c) Power meter

(d) Frequency counte

Page 5 of 32



17.3ceT Haaeld & fov a1 Igr 87
(a) Vp = V|_, ||_ = \/3_ Ip

I
(b) V, =V, I = 7‘;

18.T& dI3¢ Th T ¢

(c) 6 & Fr
(d) 8 & T
19.U% Hsell &l Wehed [t W R

AT &
(a) AT H &A1 |

(b) Fzell & =AH W
(c) T R & ged W
(d) 39eFd HY

20.few v AT F difels Y
&

A o——
B & Y

(a) X (NOR)

oo gerar

(b) 31k (OR)
(c) @5 (NAND)

(d) T8 (AND)

21.ceradd $Aff¥er & <fAad & ged
Aotereh S WieT ggT =T gaufdh &:

22,31 A AI-TTAR & FART HFT &

o fFar STar &

(a) YBINT H AX W A5 FH A &
o

(b) YFHTT #H ITEOT T I Tl &
o

(C) YFHTAT URT & A Hel & AT

(d) 39 HHY

23. TAATHICY &1 39T faFeT &l A &
T g Srar &

(a) AT H A

(b) arg-garE

(c) Ter-yaTg

(d) AeT & a1

24 . 9&1YT 3cdo SIS (LED) e &
dgd P T g
(a) foadra 3T
(b) 3131 3fAAT
(c) FIS AT g
(d) 3T T

25. T Ya¥e T H1F &7Har [T g &

_SA3edEat. 0
(8) S * 100%

3139 91aY

(C) 313TYC Tral
ST 9TaY+3T3CYC qray

(d) 3T F FIS AT

x 100%
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17.Which one is true for delta

connection?
(@ Vp=V_ IL=+3Ip

I
(b) Vp=Vy, IL:T%

(© Vp=2£, L=l
(d) Vp=V, IL=1
18.0ne byte is a group of:
(a) 2 bits
(b) 4 bits
(c) 6 bits
(d) 8 bits
19.Inductance of coil depends on:
(a) No. of turns
(b) Coil diameter
(c) Material of the core of coll

(d) All the above

20. Logic Y in the given figure is:

A o— 01
B &— v

(a) NOR
(b) OR
(c) NAND

(d) AND

21. Colour band nearest to the terminals of
tantalum capacitor indicates:

(a) Maximum voltage of capacitor
(b) First digit of value of its capacitance

(c) Second digit of
capacitance

value of

(d) Limit of capacitance i.e. nf or pf
22. DC motor starter is used to:
(a) To reduce starting load on motor
(b) To increase starting torque
(c) Reduce starting current
(d) All the above
23. Anemometer is used for measuring:
(a) Moisture in oll
(b) Air flow
(c) Oil flow

(d) Speed of motor

24. Light emitting Diode (LED) works under:

(a) Reverse bias
(b) Forward Bias
(c) No bias

(d) All the above

25. Efficiency of an amplifier is:

(a) Power in x 100%

Power out

(b) Power out x 100%

Power in

(C) Power out

Power in+Power out

x 100%

(d)None of the above
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we- 1l R vt & qfd Hifae (FAF WA F 2 IHF §, T IF 20 §)

1. TIBRER #, & JHR AT TN oo K 1 S g gl

2. o gROY H, FH AT BT AT .o giar gl

O 1 1= - i< OO U T T8l gd &l

B, FOATH oo gade I FRT &THAAT GE8 FA BT o

5. SIBIRHR o &1 3ad A S - e ool GaRT T ST Hehell Bl

6. SIS U9 gy Tl & fIT .o, QHIRSFY T G fhar Srar Bl

7. OTECT BT THTS oottt ettt et e et e et e e et e et eee et eeeeeeeeeeeenees RGIR

8. U Tfoikex, S Ush Tag ST & T §, F 3% (OFF) Fufa & w1 &
fIT SHICT-TT TFTT BT e, 3T fFar Srar g1

9. 3-0 IRUY T HFYUT WA V3 X VL X coovrreriiercineiciieeseceseees s, glcir g1
10. = FAR, Z B AR T oo ORT o Fhal g
Q.lIl:  Fill in the blanks: (2 marks for each question- Total 20 marks)
1. Two types of loses in a transformerare ................ccooeviennn. and ..o
2. Sum of all the voltages in @ closed [00P IS .......cociiiiiniiii e
3. Primary Cells @re NOL ... ...
B, ClaSS .. Amplifier has lowest efficiency.
5. Acidity of transformer oil can be checked with % ........................................ solution.
6. For manufacturing diode and transistor ..................coiiiiin. semiconductor is used.
7. Unit Oof INAUCIANCE IS ... e e
8. Emitter — base junctionis .................. biased for transistor as a switch in OFF position.
9. Total POWEr iN 3-@ CIFCUIL IS V3 X VX w.vunieieieeeee e
10. % WIFE CAN CAITY ..ttt e e e e eaeaens current than %wire.
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yed- |l Ae=faf@d Faa @8 (V ) § a1 199 (x) 46T
(FAF W & 2 IF §, FA 3F 10 ¥)
1. BISAHICY T AT Sl & 3ol &l faRIse Jeca A & faw fomar ST g1 ()
2. U FeTS fARUT SBRAT & AT $5ell # TR FHolerle g ¢l ()
3. WfAF FuRT & cfifeter W gaar Rfed gl 1 ()
4. 800 TFIRR 3TaR (AH) & &l SeRAl & Svflegg el W AT 1600 TFIRR
&R (AH) & S 8 ()
5. TEBREAT H GAE-3UNC (T4 3did) WATAS $Heell Td gfdciider Hsell &
3eATel & SRR el & ()

Q. lll. State whether True (V) or False (x)

(2 marks for each question- Total 10 marks)
1. Hygrometer is used for measuring specific gravity of acid in battery. ( )

2. Primary side of power supply distribution transformer has star connected windings. ( )

3. Ceramic capacitor has polarity marking on terminal. ()
4. Capacity of two batteries of 800 AH connected in series is 1600 AH. ()
5. Turns ratio of transformer is equal to the ratio of primary winding to ( )

secondary winding.
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weat- IV, famafaf@a af@ftaat s qivr fafge:
(FAF T F 2 3 ¢, F 3F 10 §)

—

. ¥l % we ( CFL)

2. TH 3¢ ST (SWG)

3. Tg 9 & & (SPDT)

S

. dr T T 3 (VLSI)

5. @r@he (MOSFET)

Q. IV. Write expanded form of the following:
(2 marks for each question- Total 10 marks)

1. CFL

2. SWG

3. SPDT

4. VLSI

5. MOSFET
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eet- V. arafaf@a & o aRuw gdis sase:
(FAF WA F 2 3HF ¢, F 3F 10 §)

. NI ATThE

—

3. & @R (NOR) 3T &1 T & §=T AR (OR) T

4. 331 AATT SIS

5. MWﬁgégcsﬁﬂ-ﬂmWﬁlm

Q. V. Draw Circuit / Symbols for the following:
(2 marks for each question- Total 10 marks)

1. P-channel MOSFET

2. Variable Inductance

3. OR gate realised with two NOR gates.

4. Forward biased diode

5. Delta connected 3-@ Power System.
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T - 11 (A)
WA TAROT F IR R

e - |. 3H 9T H 2-2 3T & 25 W &l

HE 3caR & A TE (V) FT T s
1. HTSHIBIT HT3YE AT ST &

(a) 3Td TR
(b) T TR
(c) grHAT ¥R
(d) FeeT

2. TEfReT aa & [T Seg Jeman
ST &
(a) 3rAT T3

(b) gfa-feam ATSsHITIA
(c) feem-fAfra ArsshItleT
(d) 3RFT T IS 8T

4. Mf3gAdT @M A A A &
foT fAefaf@d IR =Ror g &

1. garere 2. Thel#He

3. M3 s @/ AT 4. TI &Y
ST el [oleeT BT ATRT:
@1, 2 3,4

(b)2, 1, 3, 4

()3, 1, 2, 4

(1,3 24

(F - 100 31)
(50 3i®)

5. T &1 3F¢ & 3icy T 98 T Sl Hr

R TGS S &

(a) 39¢ ¥ ag-RATT & Tshed & AT

(b) ag-3cAfEd  ARIr & FUACGR
et & T

(c) 3&C & 3HEX dTIshH AT WA & foIT
(d) 3WFT & Hg el

. THH T AR (XLR) &alerey & FTfaqm

AT g @ 39T fRar Jrar @

(a) adl HJfAT IR & faT

(b) Fael FJfd aIRer & faw

(c) Fdferd Td 3rddfd gl araRaT & faw
(d) 3T & g Gl

e B 12 o R G B 1 01 B o

0 fag (0 VU) g gl I8 oot & s
gl &
(a) 0 dBu Jaer

(b) +4 dBu el
(c) +10 dBu aaa
(d) +24 dBu Ja<

. T3 s AME & fAU gged e

i Reas @ gar §:
(@) 1 kHz/ 0 VU @18 aq
(b) 1 kHz/ 0 dBu HIgT A9
(c) 1 kHz/+2dBu

(d) 10 kHz/ +4 dBu
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Q.

PART- Il (A)
BASIC RADIO BROADCASTING

This section contains 25 questions of 2 marks each.

Total- 100 Marks

(50 Marks)

Marks (v ) against the most appropriate answer

. Microphone output is considered as:

(a) High level
(b) Low level
(c) Normal level
(d) Saturated

. Switching console is installed in:

(a) Drama studio
(b) Music studio
(c) Control Room
(d) MP studio

. Ribbon Microphone is:

(a) Omni — Directional Microphone
(b) Bi - Directional Microphone

(c) Directional Microphone

(d) None of above

. MW transmitter Switching consists of

four steps:

1) Ventilation
3) Grid Bias/ MT 4) HT
The sequence should be
(@) 1,2,3,4

(b) 2,1,3,4

(c) 3,1,2,4

(d) 1,3,2,4

2) Filament

5. Glass wools lining is used throughout

the AC ducts internally:

(a) To avoid the air leakage from ducts

(b) To avoid the transfer of airborne
noise

(c) To maintain the inside temperature
of ducts

(d) None of above

. An XLR connector can be used in studio

for:
(a) Unbalance wiring only
(b) Balance wiring only

(c) Both Balance and unbalance wiring
(d) None of above

. The normal operating Audio level in

studio is 0 VU, which corresponds to:
() 0 dBu level

(b) +4 dBu level

(c) +10 dBu level

(d) +24 dBu level

. The standard Audio signal used for

Studio Audio measurement is:

(&) 1 kHz/ 0 VU Sine wave
(b) 1 kHz/ 0 dB Sine wave
(c) 1 kHz/ +2 dBu

(d) 10 kHz/ +4 dBu
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9. TT UH 140 TH Seog EARK &

forece gifers & ST (didd) T dTdshA
faFt & g @ Jran g

(a) 68°C & 72 °C @&
(b) 68°K & 72 °K de&
(c)
(d)

c) 20°C ¥ 32°C d&

FHY & dUhH T

10. Eferd 3iifSAT orset & foiet gl &

a) 3

b) 2

c) 3 - awvmah—cﬁra:w

) 2 - dR T&T Had & 1Y

11.10 fFellae R&S TH UH graHART &
qT (PA) & T&ar @ g &

(
(
(
(d

(@) 2
(b) 3
(c) 4
(d) 8
12.06 A gAY & @5 # Alge

gl &

(a) TFATSEY H

(b) qE-gatier H

(c) ufFT gatis #

(d) gsR A
13. 9l ¢dicT TfeaT &1 g gie &

(a) TH Ssog gHATEA H

(b) T% TH AT H

() TH Seeg grHATEA H

(d) &y graEET 7

14.7% 10 fdlae 6 TH AR,
fSad tfear eaw fir s 100 A
g, & WA faFdr g foe=r g

a) 10 frelidley d&

b) 20 fhel#ex d&

) 30 fFeNeller a&

(d) 60 freltafiex a

15.T 3$ 3R (AIR) Uh UH CHAET &
for eafaf@a & & sla-ar d= gy

(
(
(

C

16. 9135 Reapifer & for Reafai@a & &

CEGRIE

17. 3R S-45 FaddeX &l JAET Head haol

& fow forar Srar &
(a) PITFEIT haol
(b) Eferd HTTSAT dherer
(c) &%  (CAT)- 5

(CAT)- 6 hael
(d) 3R TH hadl
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9. The temperature of crystal oscillator's
oven of HMB-140 MW transmitter is
kept between:

a) 68°Cto 72°C
b) 68%K to 72°K
c) 20°C to 32°C

d) At room temperature

10. A Balance Audio line has:
(a) 3-wire
(b) 2-wire
(c) 3-wire with shield
(d) 2-wire with shield

11.Nos. of PA
Transmitter are:

in 10 kW R&S FM

a) 2
b) 3
c) 4
d) 8

12.In FM transmitter Modulation takes place
in:

a) Exciter

b) Pre-Amplifier
c) Power Amplifier
d) Driver

13. Circularly polarized antenna is used for:

(&) MW transmission
(b) FM transmission
(c) SW transmission

(d) TV transmission

14.A 10 KW FM transmitter with A 100 M
Antenna Tower has a normal coverage
distance of:

a) Upto 10 Km
b) Upto 20 Km
c) Upto 30 Km

d) Upto 60 Km

15.Which of the following frequency bands
is used by AIR for FM Transmission?

a) VHF Band |
b) VHF Band Il
c) VHF Band llI

d) UHF Band

16. Which of the following software module
is not used for sound recording
purpose?

a) Window Media player
b) Sound forge

c) Wave lab lite

d) Cool edit

17.RJ 45 Connector is used to connect:
a) Coaxial Cable
b) Balance Audio Cable
c) CAT 5 and CAT 6 Cable.

d) RF Cable
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18.

19.

20.

21.

IR A fAAd T 96T [ea Sergr
T 9Tl FRIGAT I Yt e &
T far Srar &

(a) STSHIEIT 813H, 75 ool

(b) Tt A TerEAET

(c) T 33 3R & R 3rufeleh doil A
(C)EREG L]

SIoTel Sofel & Hellelel 37e[X&TOT 3T
& AR, FUT FooldRld UT  FH
qOeToT fAesT el & g fhar Sran
g

(a) 1000 &

(b) 500 &
(c) 100 &
(d) 2000 &

Saclerellel ga-3mT & fov fha 9
T AFAAHS TT FIH SA;ET 3TYFA
gir & ?

(a) AT THAT 28y

(b) CO, T59
(C) ST (HIH) <I3Y
(d) 3FT & HIS 8T

geA a1 & v ¥ e @
e 9 FaIRd 8idr g

(a) 3rafeT-aler
(b) $7-car
(c) 3N a’er

(d) 3TRAFT T

22. 9rafAs+ 39AR §99 § Fafef@a & O
HiT-gT gTAT FATAT & ?

(a) @reET & forr ART
(b) ReFaR dsfer

(c) STl FEH

(d) (b) 3R (c) ax=t

23.9g H FAT i AT TG WA F T
g ATIS I FHT 39T glar § ?

(c) arsufaw gufay
(d) 39 gl

25.18 YR &1 TH Sseg AT T 37TS
3R Sedsh H YAV AgT & W & ?

(a) eR& faf#a

(b) Fileer AT

(c) 3R Us g AfFa
(d) 9o (BEL) Af#da
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18.RN terminals are used to receive the

19.

20.

21

programmes uplinked by:

a) Broadcasting House, New Delhi
b) State Capitals

c¢) Other uplink Stations of AIR

d) All the above.

As per the running maintenance
schedule of a diesel engine, the fuel
injection pump is checked up after

every:

(a) 1000 hrs.
(b) 500 hrs.
(c) 100 hrs.
(d) 2000 hrs.

For flammable liquid fire, which type of

fire extinguisher is most suitable?

(a) Soda acid type
(b) CO type

(c) Foam type
(d)None of the above

. Signal from microwave STL travels as:

(a) Space wave

(b) Ground wave
(c) Sky wave

(d) All the above

22.Which of the following is found in first

23.

24.

Aid Box?

(a) Cough syrup

(b) Tincture Benzene
(c) Burnol ointment
(d) (b) and (c) both

Which measuring equipment is used to

determine moisture content of air?

(a) Tachometer
(b) Hygrometer
(c) Sling Psychrometer

(d) Anemometer

Which type of condenser is used in air-

conditioning system?

(a) Air cooled
(b) Water cooled
(c) Evaporative
(d) All the above

25.Which type of MW transmitter is not

being used in AIR network?
(a) Harris make

(b) Nautel make

(c) R & S make

(d) BEL make
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e e FElel A HdeT AT FYC BT B
2. AR FREET F e, AR HH H ST eIl ¢
< S HATSHIBIT & H I & [T G ool T 3TaRTST AT gl gl
4. TH B60G TRAT oo ¢ gl g
5. SIWET aTe 3TTaTES T FT T oo, 3T R AGT AT ST FhT B

6. 3-TUa arer T T 3R (XLR) ey & [T T&Ar 1 &7 gaAr 33T had &

.............................................................................................................. ¥ Sisd gl
7. STSVFTAT BTAT BT T oooveeieeeeeeeeeeeeeee et eeeeee e eeeeeeeeee e, & T gIar gl
8. TH T U5 oo dAol AGhIAT Toldh gl
9. o dY TH (PPM) HIET AT oo AT F JedT gl
10. TP TH TTHHICT & TFATSET F oo gl Higelel g g
Q. Il. Fill in the blanks (2 marks for each question- Total 20 marks)
L console will have only line inputs.
2. Alow passfilter (LPF)will have ..., in parallel.
3 microphone does not require any power supply for its operation.
4, The MW antennais .......c.oeiiiiiiii e polarised.
5. The foam type fire extinguisher cannotbe used on ..., fire.
6. The pin No. 1 of a 3-pin XLR connector is always connected to ....................coennes
of the audio cable.
7. Directional coupleris USed fOr ...... ..o
8. STL-05108 @ iuiiiiieiii e channel microwave link.
9. APPMmeterreadsthe .........cccooiiiiiiiiiii e, value of the waveform.
10, i level modulation takes place in the exciter of FM transmitter.
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Ted- 111 Feafaf@a sa9 @ (V) § 31 1699 (x) 9918
(TAF TT F 2 3% 8, F 3F 109)

1. CO, HfFstems s a7 faega-3mr & fov suyed € g ¢ )
2. 3UTE FAX A FF 9« TH & (QPSK) HIgelel &I AT §iell B ( )
3. ATSHIET eafer Y 3R & agarar B ()
4. 0dBm Hif3AT f@eTer 0 G & ST g B ()
5. FEER H gehiasd ga feufd # goar g ()

Q. lll. State whether True (V) or False (x)
(2 marks for each question- Total 10 marks)

1. CO, fire extinguisher is not suitable for electrical fire. ( )
2. QPSK modulation is used in satellite communication. ( )
3. Microphone converts sound into audio. ( )
4. 0 dBm audio signal is equal to 0 mw. ( )
5. The refrigerant enters in liquid state into compressor. ( )

Page 19 of 32



eet- Iv. famafaf@a afafaat &1 v af@w:
(TAF TT F 2 3% 8, F 3F 109)

1. Tl T & GV (LNBO) e
2.0 TV UT TH (PPM) .o
3. T TE (HE) oo

4. B TH S - TH T (DSB-SC) oo

o)
>
S

Q. IV. Write expanded form of the following:
(2 marks for each question- Total 10 marks)
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9ed- V. rafaf@a & v gy ydfie samsT:

(TAF T F 2 3% ¢, F 3F 108)

2. f&=a& BID)

3.  TH @ AN (SCR)

4. 9 Y= TS

5. U 4TI U% (LPF)

Q. V. Draw Circuits/Symbols/Diagram for the following:

(2 marks for each question- Total 10 marks)

1. Repeat coil

2. BJT

3. SCR

4. Vacuum Triode

5. LPF
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HTT — 11 (B)
CelfasteT JHROT & 3MURd g

g — 1. S WeeT # 2-2 3T & 25 Wt &

e 3ca & A TG (V) FT AT Femsv)

1.

2.

3.

Ufear Ud WISy heel & fAv a1 T
Seog AR 1 ElIhc A &

(@ 09 1
(b) 138 1.1
(c) 1.58 25

(d) 31=id

SAY # IERT AT Gar S §:
(a) SpTRr T Al =01 8

(b) ®Ihel gl deoial 8

(c) TN FAS g

(d) sgIse oI &

HIST AT Y e &

(a) ATSAT Shelel TETOT 8]

(b) JHITSAT ShareT TOETT B
(c) 3R TH el JHETIT &
(d) 3WFT T

g H afr & TYT YIRUT H

QTeRISARMT BIT §:
(a) &fasr
(b) FEATER

(c) et

(d) 3EHR

5.

(F — 100 37F)
(50 37)
qifsA gex w1 giar ¢
(a) @ & IR A
(b) X H
(o) T &

(d) TH T8 3R &

Aol ga-3mT & fov g gaR

T ITARAASR AT FeH SATEl 3GFl

glar & ?

(a) |37 TRAE 2rs9

(b) CO2 TTB3T

(c) FMT (PIH) TS

(d) 3RFT F Pl gl

T sHC & Y T SO TAH Fe

(a) 39 ¥ IY-RAT FT Ashed & AT

(b) 3FC & 3 dUhd FATT IWoA &
fore

(c) aTg-3cUTE AR & FIACR I
Ut & fow

(d) 3RFT F Pl gl

SISTel Sofel o HTolel JHeIX&TOT JTTgEr

% 3TAR, U Frolohlel U9 I GHETT

et 3icRTer & a1 fRar ST &

(a) 1000 ©C

(b) 2000 T

(c) 100 &¢

(d) 500 €&
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PART - Il (B)

BASIC OF TELEVISION BROADCASTING
Total- 100 Marks

Q. I: This section contains 25 questions of 2 marks each. (50 Marks)

Marks (v ) against the most appropriate answer

1. Acceptable value of VSWR for antenna | 5. Video switcher is located in:

and feeder cable is: (a) PCR
(b) CAR
(@ 0to1 _
(c) Studio
(b) 1to 1.1
(d) MSR
(c) 1.5t0 25
(d) Infinity 6. For flammable liquid fire, which type of

fire extinguisher is most suitable?

2. lris control in camera is provided for: )
(a) Soda acid type

(a) Controlling light intensity (b) CO, type
(b) Varying focal length (c) Foam type
(c) Colour adjustment (d)None of the above

(d) White balance o
7. Glass wools lining is used throughout

_ _ the AC ducts internally:
3. Site master is used for:

(a) To avoid the air leakage from ducts

(a) Testing video cable (b) To maintain the inside temperature
. . of ducts

(b) Testing audio cable (c) To avoid the transfer of airborne

(c) Testing RF cable noise

(d) Al the above (d) None of above

8. As per the running maintenance

4. Polarization used for terrestrial TV schedule of a diesel engine, the fuel
broadcasting in India: injection pump is checked up after
every:

(a) Horizontal
(b) Vertical (a) 1000 hrs.

(c) Circular (b) 2000 hrs.

(d) Elliptical (c) 100 hrs.
(d) 500 hrs.
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9.

10.

11.

12.

133 &Y TH SR ¢ :

(a) 10 FAelare
(b) 20 Feltare
(c) 15 fHelare
(d) 30 Aelare

rafie ITUR §99 # AeAoi@d &
T PIT-AT IR—IT AT § ?

(a) @ET & for R
(b) TR SiteT

(c) SReflel FREH

(d) (b) 3R (c) ErAt

ag # A Hr AET AT A & AT
fFg ATIS IF HT 39T glaT § 2

(a) THIHAT

(b) BTZAMHX

(c) T ATThIAIE
(d) TAAFHRI

TFHIZEY T FoAYC SFNSH BIell &
(a) 75 3NEHA

(b) 50 3HTEA

(c) 137 3EH

(d) 6 fraY 3NEA

13. 99 S & ITIEY FIC (hIE AU

hr et gl &:
(a) ATATRR

(b) FedrhR

(c) 3USTHR

(d) 3UFd |

14. arEdfas 1 @ od
(a) & T (T o8T)
(b) &Y ghT H
(c) e Trer H
(d) =frel 9eprer &

15. Serer &1 digar et gary ardy S
g

(a) HeCIA
(b) ERIHEY
(c) TAAHART
(d) STFHHIT

16. 5 WT & Yehrel SYd &l WM dT9HTT
gIaT &

(@) 20000 shicasd
(b) 32000 FHfeasd
(c) 100000 shfedsT
(d) 65000 FHfeas

17.91el (PAL) AIfSAT & Tsh Ths H %Al
Hr TE&IT gl §:

(a) 30
(b) 25
(c) 50
(d) 60

18. AeATST HT ofeh UM Bl &
(a) 3ooddeT
(b) fearer
(©) (a) AR (b) =t
(d) 3RIFd & T IS AGT
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9.

10.

11.

12.

13.

13 dBm is equal:
(@) 10 mw
(b) 20 mw
(c) 15 mw
(d) 30 mw

Which of the following is found in first
Aid Box?

(a) Cough syrup

(b) Tincture Benzene
(c) Burnol ointment
(d) (b) and (c) both

Which measuring equipment is used to
determine moisture content of air?

(a) Tachometer
(b) Hygrometer
(c) Sling Psychrometer

(d) Anemometer

Input impedance of exciter is:

(@) 75 Q

(b) 50 Q

(c) 137 Q

(d) 6kQ

Shape of cross section of waveguide is:
(a) Rectangular

(b) Circular

(c) Elliptical

(d) All the above

14. True colours are seen in:

15.

16.

17.

18.

(&) Warm light

(b) Green light

(c) White light

(d) Blue light

Light intensity is measured using:
(&) Multi meter

(b) Tachometer

(c) Anemometer

(d) Lux meter

Colour temperature of blue light source
is:

(a) 2000°K

(b) 3200°K

(c) 10000°K

(d) 6500°K

In PAL video, number of frames in one

second is:
(@ 30

(b) 25
(c) 50

(d) 60

Satellite look angle is:
(a) Elevation

(b) Azimuth

(c) (a) & (b)

(d) None of the above
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19. 81-FE2RX e ¢
(a) 3T 3USHR
(b) FeaTh X
(c) e (Rraffersh)
(d) ITaRTARF (FIEHITI)

20. AT T Hles T ATAIT: AT ST
g
(@ sTdrTa H

(b) St & Sseg #
(c) 3 o dree/ Hex &
(d) 3t &f ASPIaee/ FHex

21. AT RIS I 36T TEARA
AT gaRT Sl = AfFd e
H deoleT g &

(a) § TH T
(b) 3SAT T
(c) YIRT T

(d) I9T TLT

22. dTclieisholel  YoTell # b8 YR &
ufaT &1 399 glar § ?

(a) Iy Mfad gefa=
(b) T hfaa T
(c) arsufas FafaT
(d) 3T T

23. ¢ @ gl &:

(a) 92 & 3 ga @ cfaol ya
I SigeT aTell 37eiged @Y
(b) ¥FET TW@T & AN Jecl

(c) HTAST F 3ooATel HIOT
(d) ET T T &

24.8dT Uwur A Ifg T dEd 175.25
MIMESS § o &afer arge g

(a) 180 RAIMEEST

(b) 181.75 AIMEEST
(c) 181.5 AIMEES
(d) 181.25 ANt

25. o1 HASHT AifsAr Reater & giar &
(a) AUT JTHIC
(b) &ifcsT [
(c) FraTer &
(d) 3WRFT T
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19. Geo-stationary orbit is: 23. Longitudes are:

(a) Highly elliptical
(b) Circular

(c) Parabolic

(d) Hyperbolic

(&) Semicircles connecting north pole to
south of earth:

(b) Circles parallel to equator

(c) Elevation angle of satellite

20. Field strength of TV is generally (d) Height from mean sea level
measured in:
(a) dBm 24.In TV transmission, if vision carrier is
(b) dBw 175.25 MHz, the aural carrier will be:
(c) dBv/m (@) 180 MHz
(d) dBpv/m
(b) 181.75 MHz
21. The purpose of transmitting aerial is to (c) 181.5 MHz
convert power delivered by transmission
line into : (d) 181.25 MHz
(a) EM Wave
(b) Heat wave 25. Colour composite video signal contains:

(c) Current wave
(d) Voltage wave (a) Color Burst

(b) Horizontal Sync
22. Which type of condenser is used in air- () Vertical Sync
conditioning system?
(d) All the above

(a) Air cooled
(b) Water cooled
(c) Evaporative

(d) All the above
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geet- 11 Rea vt #r qfd Hifaw TF T & 2 3% &, FF 3F 208)

G| B S E B L B R [ SO AIMEEST gl &
2. AT URT T ATFT oo e g@nr ardr S gl
3. SI3afeleh TG TGl & T AR W SN T BT MBR .o
4, &Y TRAT A BT TG BT T e gar gl
5. HFAY H IRGAAT Blehel TEETS ATel T BT oo, Fed gl
6. 3NN P H FTHAT T AT TGUT BT B ToTT oo HATShIPIT
T ST BT g
7. HEY HT TR SADR oo &I faega faeerer & gRafdd awar gl
8. T Bl URH TBCTT H oo i AT H gl
9. RT o FBfoea ARRITT T aRAT & T o AT T B
10. STET aTel 37TTARMMAD TT BT T oo 3T W AST T ST FehaT B
Q. Il. Fillin the blanks (2 marks for each question- Total 20 marks)
1. Aural IF frequency in TV tranSmitteris .........coooviiiiiiiiiiiii e, MHz.
2. Power of a TV transmitteris measured by ..., meter.
3. Sizeofreceive PDA ... as downlink frequency increases.
4. In TV Studio fill light is USed fOr ..o
5. In a camera, lens with variable focal lengthis called ..................ocoiiiil,
6. For picking up ground sound .............ccoeiiiiiiiiiiiinnen. microphone is used for OB
coverage.
7. Optical block of cameraconvert .............cocoiiiiiiiiiiiinn, into electrical signal.
8. A Low Pass Filter(LPF) will have ....... ..o in parallel.
9. India h_as_ adopted ..., standard for digital terrestrial
transmission.
10. The foam type fire extinguisher cannot be usedon ..................oooiinl, fire.
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Ted- 111 Feafaf@a sa9 @ (V) § 31 1699 (x) 9918

(TAF YT F 2 3F §, Fd 3F 108)

1. 91ef (PAL) fEea & &dr feaY Reeter 5 Aamgdsl d AT T &1 ()
2. gl oo Rufd & #FIER & ggadr & ()
3. CO, HfFaemwe I faggd-3mer & fow suged & Q1 § ()

Teh AT el Y edd U TTH Her T Jolell H Sh1aT Tehrel a1fee| ()
4. &1 & geptel o 3iMgd T daEeT 65000 Bfcqad gxar g1 ()

Q. lll. State whether True (V) or False (x)
(2 marks for each question- Total 10 marks)

1. TV Video signal is limited to 5 MHz in PAL system. ( )

2. The refrigerant enters in liquid state into compressor. ( )
3. COq; fire extinguisher is not suitable for electrical fire. ( )
4. A colour camera requires more light compared to black & white camera. ( )
5. Average colour Temperature of Day light is 6500 °C. ( )
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weat- 1v. faf@a sfRftat &1 oier AT @ wa & 230 L3937 109

1. 8T TH S-TH T (DSB-SC) oo

2. F T TH (UHF) oo

B TH U Sl (SPG) i

Q. IV. Write expanded form of the following:
(2 marks for each question- Total 10 marks)
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Ted- V. Amfaf@d & v oy gdfied sa30: @ wa # 237 § 37 3w 109

ar & (BI)

=

N

TH & 3R (SCR)

w

Tol 4T TH (LPF)

4. 9 T df gIfSEET (PNP Transistor)

5. 319 37¥ar §{fA (Earth or Ground)

Q. V. Draw Circuits/Symbols/Diagram for the following:
(2 marks for each question- Total 10 marks)
1. BJT
2. SCR
3. LPF

4. PNP Transistor

5. Earth or Ground

Page 31 of 32



Keys SAMPLE PAPER: HELPER

PART —1 (Compulsory)

Q. Q. Q.
1 (© 14. (b)
2. (d) 15. () 1. copper loss, 1. False
3. (d) 16. (b) Iron loss 2. False
4. (a) 17. (a) 2. Zero 3. False
5. (d) 18. (d) 3. chargeable 4. False
6. (a) 19. (d) 4. A 5. True
7. (b) 20. (d) 5. KOH
8. (0 21. (a) 6. Silicon
9. (@ 22. (c) 7. Henry
10. (b) 23. (b) 8. reverse
11. (b) 24. (b) 9. I.Cos9®
12. (c) 25. (b) 10. More
13. (¢)
PART — Il (A) (RADIO BROADCASTING)
Q.1 Q.1 Q. i
1. (b) 14. (d)
2. (c) 15. (b) 1. Switching 1. False
3. (b) 16. () 2. Capacitor 2. True
4. (a) 17. (c) 3. Dynamic/ Ribbon 3' True
5. (b) 18. (d) 4. Vertically '
6. (¢ 19. (d) 5. Electrical 4. False
7. (b) 20. (c) 6. Screen 5. False
8. (@ 21. (a) 7. Measurement/
9. (a) 22. (d) Metering
10. (d) 23. (c)&(b) 8. 5
11. (c) 24. (d) 9. Peak
12. (&) 25. () 10. Low
13. (b)
PART = Il (B) (TELEVISION BROADCASTING)
Q.1 Q.1 Q. 1l
1 () 14. (0
2. (a) 12 Ed; 1. 334 1. True
3. (9 - (€ 2. Thru Line
4. (a) 17. (b) 3. Decreases ; Ealse
R . False
5 (a 18. (c) 4. Mitigating shadow
6. (¢ 19. (b) 5. Zoom lens 4. True
7. (c) 20. (d) 6. Gun 5. False
8. (b) 21 (a) 7. Optical
9. (b) 22. (d) 8. Capacitor
10. (d) 23. (a) 9. DVBT2
11. (c) 24. () 10. Electrical
12. (a) 25. (d)
13. (d)
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